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gdzie:
δ(x, xp) – funkcja delta Diraca w punkcie x = xp,
H(x, xp) – funkcja Heavisaide’a (skoku jednotkowego)

w punkcie x = xp,
λ = ω2ρA/EI,
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23

2

sh ( ) sin ( ) ,
2

/ ,

i p i p
i

i i

a l x l x

A EI

θ ⎡ ⎤= λ − − λ −⎣ ⎦λ
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xp = 10 xp = 8,94 10,6% 
1 

a = 0,2h 
f1 = 132,41 f 2 = 834,07 

a = 0,189h 5,5% 

xp = 10 xp = 8,91 10,9% 
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a = 0,3h 
f 1 = 131,07 f 2 = 830,57 
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f1 = 846,66 f 1 = 288,43 a = 0,2h a = 0,213h 6,5% 

xp = 10 xp = 10,9 9,0% 
2 f 1 = 843,08 f 1 = 287,68 

a = 0,3h a = 0,325h 8,3% 

xp = 50 xp = 48,2 3,6% 
3 f 1 = 864,40 f 1 = 288,85 

a = 0,2h a = 0,19h 5,0% 

xp = 50 xp = 53,8 7,6% 
4 f 1 = 841,14 f 1 = 287,81 

a = 0,3h a = 0,299h 0,33% 

xp = 70 xp = 68,8 1,7% 
5 f 1 = 848,72  f 1 = 287,11 

a = 0,2h a = 0,23h 15,0% 

xp = 70 xp = 69,6 0,6% 
6 f 1 = 847,51 f 1 = 284,57 

a = 0,3h a = 0,333h 11,0% 
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